

PDY Ex 1

$F: \mathcal{A} \rightarrow \mathcal{B}$  additive  $\mathcal{U}$  exact

$\mathcal{U}(L_i F) \cong L_i(\mathcal{U}F)$  ?

$L_i F(M) = H_i(F(P_n))$   $P_n$  proj reso

$$\begin{aligned} \text{so } \mathcal{U}(L_i F(M)) &= \mathcal{U} H_i(F(P_n)) \cong \mathcal{U} H_i(F(P_n)) \\ &= L_i(\mathcal{U}F)(M) \end{aligned}$$

we just need to check that exact functor commutes with homology

$$H^i(X) \cong \text{Coker}(Z_{i+1} \rightarrow Z_i)$$

$$\text{so } \mathcal{U} H^i(X) \cong \text{Coker}(\mathcal{U}(Z_{i+1}) \rightarrow \mathcal{U}(Z_i))$$

$$\cong \text{Coker}(Z_{i+1} \rightarrow Z_i(\mathcal{U}F)) \cong H^i(\mathcal{U}F)$$

(2) (a)  $F: A \rightarrow B$  additive

(a) let  $0 \rightarrow A \rightarrow B \rightarrow C \rightarrow 0$  seq then we have a long exact seq

$$\dots \rightarrow L_i F(A) \rightarrow L_i F(B) \rightarrow L_i F(C) \rightarrow 0$$

So  $L_0 F$  is right exact

(b)  $L_m L_n(F)$ ?  $M$  and  $P_n \rightarrow M \rightarrow 0$  a proj resolution.

$$\text{then } L_{m+n}(F)(M) = H_{m+n}(L_n(F)(P_n))$$

$$\dots \rightarrow L_n F(M) \rightarrow L_m F(P_0) \rightarrow 0$$

if  $n > 0$  then  $L_n F(P) = 0 \forall$  proj hence no homology.

if  $n = 0$  we have

$$L_m(L_0 F)(M) = H_m(L_0 F(P_n))$$

$$\dots \rightarrow L_0 F(M) \rightarrow L_0 F(P_0) \rightarrow L_0 F(M) \rightarrow 0$$

Hence  $L_0 L_0 F(M) \cong H_0(L_0 F(M)) \cong L_0 F(M)$  exact  $\downarrow$

and  $L_0 F(P_0) =$



$$n=0 \quad L_m L_0 F = ?$$

$$\cdots \rightarrow P_1 \rightarrow P_0 \rightarrow M \rightarrow 0$$

$$L_0 F \text{ exact} \quad \cdots \rightarrow L_0 F(P_1) \rightarrow L_0 F(P_0) \rightarrow L_0 F(M) \rightarrow 0 \quad \underline{\text{exact}}$$

So  $H_0(L_0 F)(M) \cong L_0 F(M)$  and moreover  $L_0 F(P_i) = F(P_i)$  because  $ab^i \rightarrow b^{i+1}$  is a monomorphism so

$L_0 F(M)$  is the homology of  $F(P_1) \rightarrow F(P_0) \rightarrow \cdots$

So by definition it is  $L_m(L_0 F)(M)$ .

Ex 2 (1)  $0 \rightarrow M \rightarrow P \rightarrow A \rightarrow 0$  exact with  $P$   $F$ -acyclic. Then

Apply  $F$  and get

$$0 \rightarrow L_2 F(A) \rightarrow L_1 F(A) \rightarrow 0 \rightarrow L_1 F(M) \rightarrow F(P) \rightarrow F(A) \rightarrow 0$$

$$\text{So } L_i F(A) \cong L_i F(M) \quad \forall i \geq 2$$

$$L_1 F(A) = \ker(F(P) \rightarrow F(A))$$

(2) The idea is to add many terms: same assume  $P_i$   $F$ -acyclic:

$$\begin{array}{ccccccc} & & & \text{ker } d_1 \rightarrow 0 & & & \\ & & & \downarrow & & & \\ & & & \text{ker } d_0 \rightarrow 0 & & & \\ & & & \downarrow & & & \\ & & & \text{ker } d_0 \rightarrow 0 & & & \\ & & & \downarrow & & & \\ 0 & \xrightarrow{d_2} & P_2 & \xrightarrow{d_1} & P_1 & \xrightarrow{d_0} & P_0 \rightarrow A \rightarrow 0 \\ & & \downarrow & & \downarrow & & \downarrow \\ & & \text{ker } d_2 & & \text{ker } d_1 & & \text{ker } d_0 \rightarrow 0 \end{array}$$

$$\text{So we get } \left. \begin{array}{l} 0 \rightarrow M_m \rightarrow P_m \rightarrow \text{ker } d_{m-1} \rightarrow 0 \\ 0 \rightarrow \text{ker } d_{m-1} \rightarrow P_{m-1} \rightarrow \text{ker } d_{m-2} \rightarrow 0 \\ \vdots \\ 0 \rightarrow \text{ker } d_1 \rightarrow P_1 \rightarrow \text{ker } d_0 \rightarrow 0 \\ 0 \rightarrow \text{ker } d_0 \rightarrow P_0 \rightarrow A \rightarrow 0 \end{array} \right\} \text{ m+1 \textit{ex} sequences}$$

Long Q1:



$L_i(F)(A) \cong L_{i-1} F(\ker d_i) \cong \dots \cong L_{i-m+1} F(\Gamma_m)$   
if  $i \geq m+1$

(a) For  $i = m+1$  we have  $L_{m+1} F(A) \cong L_1 F(\ker d_{m+1})$

apply  $F$  to first seq gives

$0 \rightarrow L_1 F(\ker d_{m+1}) \rightarrow F(\Gamma_m) \rightarrow F(\Gamma_m) \xrightarrow{\text{exact}}$

(3)  $\Sigma \rightarrow A$   $F$ -acyclic resolution of  $A$

$0 \rightarrow \ker d_{m+1} \xrightarrow{d_m} Q_{m+1} \rightarrow \dots \rightarrow Q_0 \rightarrow A \rightarrow 0$  exact so with  $Q_i$  we get  $L_n F(A) \cong \ker F(d_n)$  and it remains to check that this is the  $n$ th homology of  $F(Q_i)$

We have  $Q_{n+1} \xrightarrow{d_n} Q_n \xrightarrow{d_{n-1}} Q_{n-1} \xrightarrow{d_{n-2}} Q_{n-2}$   
 $\downarrow \quad \circ \quad \downarrow$   
 $\ker d_n$

if  $F$  is right exact it preserves  $\circ$  epi so

$F(Q_{n+1}) \xrightarrow{F(d_n)} F(Q_n) \xrightarrow{F(d_{n-1})} F(\ker d_{n-1}) \rightarrow 0$  exact  
 $\downarrow 0 \quad \downarrow F(d_n) \quad \downarrow F(d_{n-1})$   
 $0 \rightarrow 0 \xrightarrow{0} F(Q_{n-1}) \xrightarrow{\text{Id}} F(Q_{n-1})$

So apply snake lemma and we have  $F(Q_{n+1}) \xrightarrow{F(d_n)} \ker(F(d_n)) \rightarrow \ker(F(d_{n-1})) \rightarrow 0$   
 So  $\ker(F(d_n)) \cong \frac{\ker(F(d_n))}{\text{Im}(F(d_{n+1}))} = H_n F(Q_i)$   $\square$



